OTroBopu Ha TecTa — 2 Knac

Ot 1 oo 10 3agaya - 2 TOUKM

1 3ap. - B) 21; 6 3aa. - b) 16;

23ap.- A)12; 7 3ap.- B) 8;

33an.- B)19; 8 3a4. - NOHeAenHuK;

4 3ap. - IN) B>C; 9 3aad. - XbnTa;

53ap. - B) 2 cectpuuku n 3 6patyera; 10 3aa. - 5um 0 — 3a BCsKo uncno no 11.;

OT 11 po 15 3agaya - 4 TOUYKU OT 16 no 20 3agaya - 6 Touku
11 3ap. - B) 2; 16 3apg. - B) 11;
12 3ap. - B) neto; 17 3ap. - A) 20cm;
13 3ap. - b) 4; 18 3aa. - B) 45;
14 3apg. - 60, 71, 82, 93 - 19 3ap. - B) 30;
3a BcsKo yucno no 171. ; 20 3ap. - 25 3Be3aNYKNK;

15 3aa. - 14 pbpBeTa;

3agada - 30 TOUKHU
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qmryplcn':>qncna: @ -1; <11>V4'>- 2; {ij?- 3; Ej -4; <:>- 6.

3a BcAKO yMcI0 1o 3T. — 5.3=15T.
3a BapHa cxema mo 1.51.- 8.1.5=12T.
3a BApPHO nombJBaHe + 3T. 3T

30T.



